TR 264 &

RAR IS Bt E K

BEENWK | BALSYLREES
w OB 4 B\ S LiE A R AR5 15 BRI A = HEYIRLEE + SRS AR =
i | E 78,000 m?2 = H K SEIKALEEEE A 100 m*/H
2R =E 1,300,000 m3 HIKFEEMAE 4,500 3
FTELERRKNAO 145,196 A AEREL BiE 30 mg/|
FTEIREAO 145,196 A KE 70 mg/|
(1) WHEEFXR
_ X % 4R 5A 6H 7R 8H 10AR 128 | 1A 2R BA | & §
aJ R 1 29 199 229 187 82 0 0 0 0 908
7 TER-HHKRZSH 50 65 157 63 32 37 43 45 41 70 657
18 BRI T%E 87| 202 120 154 138 195 141 110 126 153] 1,618
V3 IR EY) 5 3 2 2 2 2 3 3 2 3 32
= N E 143 299 478] 448] 359 316 187 158 169| 226] 3,215
0 = -1 - A - - - -1 - A - -
A = (1) 143 299 478] 448] 359 316 187 158 169| 226] 3,215
- F (m3) 105| 234| 474| 468 377 279 135 115 122 164 2,899
EtE (1) 22 22 21 23 21 23 23 20 19 25 261
(m%) 14 14 13 14 13 14 14 13 12 16 164
WIEHITE |[(md) 119] 248 487 482 390 293 149 128 134 180] 3,063
HERRRE (Fm3)| 9934 993.1 | 9926 | 992.2 | 991.8 991.2 990.9] 990.8] 990.6] 990.4| 9904
=HR o1 36] 45| 92| 100| 100 95 99 98| 82| 97 87
NIEK= &= K 43| 101 122 112 109 102 115 104 102| 106 122
m/B)| & b 32 21| 51| 93 97 87 95| 76| 75| 76 21
(2) MEROIKR
4| 5| 6R|7RA|8HA|9A|10A11A[128  1A| 2AH]| 3A
ERORERR @ 5@ 5(® 5@ 5@ 5@ 5@ 5@ 5@ 5@ 5@ 5@ &
EREDOHRLERRE B A® 4D 4D 40 1@ 1@ @ @ 1@ a® 5B 5
BLoRR @ 5@ 2@ 5@ 5@ 5@ 7@ 7@ 5@ 5@ 5@ B &
CHORY. FH (D BD B® BB BB BB D BB BB 5D BB BB 5
BHKONHBEE @ 5B 4(® 4B 5(®- 5B 4@ 5(®- 5B 4@ 7(®- 5(®- 5
EE. BREOHE @ A 4B A AP 4B A A® A% A aH a® 5
BEKIZEDKR ®- &@- &5@- 5@ 5@ 5@ 5@ 5@ 5@ 5@ 5@ 5@
BHELEZEOKAD 5@ 5@ 5@ 5@ 5[®- 5@ 5@ 5@ 5®- 5@ a®- &




